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,QLVLDWLI� =DNDW� ,QGRQHVLD� PHUXSDNDQ� RUJDQLVDVL� DWDX� OHPEDJD� NHDJDPDDQ� \DQJ�

MXJD� EHUSHUDQ�PHQMDGL� DPLO� DWDX� \DQJ�PHQJHOROD� GDQ�PHQJKLPSXQ� GDQD� =DNDW��

,QIDN GDQ� 6HGHNDK GL EDZDK� QDXQJDQ� %DGDQ� $PLO� =DNDW� 1DVLRQDO��

3HUNHPEDQJDQ� GDQD� =,6� GL /$=� ,=,� VXGDK�PXODL PRGHUQ�� ELVD GLEXNWLNDQ� GDUL�

SHQJHORODDQ� GDQ� SHQGD\DJXQDDQ� GDQD� � =,6� \DQJ� GLSHUXQWXNNDQ� XQWXN� SHQHULPD�

]DNDW�VHVXDL�GHQJDQ���DVQDI��3HQJHORODDQ�GDQD�=,6�GDQ�VLVWHP�SHQGD\DJXQDDQQ\D��

/$=� ,=,� <RJ\DNDUWD� PHPLOLNL� SURJUDP�SURJUDP� \DQJ� VDQJDW� PRGHUQ�� 2OHK�

NDUHQD� LWX�� WXMXDQ� GDUL� SHQHOLWLDQ� LQL� \DLWX� XQWXN�PHQJDQDOLVLV� SHQJHORODDQ� GDQD�

=,6�GL�/$=�,=,�<RJ\DNDUWD�\DQJ�GDSDW�PHQLQJNDWNDQ�NHVHMDKWHUDDQ�NDXP�GKXDID��

0HWRGH� SHQHOLWLDQ� LQL� DGDODK� NXDOLWDWLI� GHVNULSWLI� GHQJDQ� PHODNXNDQ� REVHUYDVL��

GRNXPHQWDVL� GDQ� ZDZDQFDUD� VHFDUD� ODQJVXQJ� NHSDGD� DPLO \DQJ� WHUGLUL� GDUL� ��

RUDQJ GDQ� PXVWDKLT \DQJ� WHUGLUL� GDUL� ��� RUDQJ GL� /$=� ,=,� <RJ\DNDUWD�� +DVLO�

SHQHOLWLDQ� EHUGDVDUNDQ� DQDOLVLV� \DQJ� GLODNXNDQ�� PHQ\DWDNDQ� EDKZD� /$=� ,=,�

<RJ\DNDUWD� VHEDJDL� DPLO� VXGDK� RSWLPDO� GDODP� SHQJHORODDQ� GDQD� =,6� XQWXN�

PHQLQJNDWNDQ� NHVHMDKWHUDDQ�PDV\DUDNDW� NKXVXVQ\D� NDXP� GKDID� GHQJDQ�PHODOXL�

SURJUDP�SURJUDP� \DQJ� GLPLOLNLQ\D�� 'DODP� SHQJHORODDQ� GDQD� =,6� EDLN� GDUL�

SHQJKLPSXQDQ VXPEHU� GDQD� =,6� KLQJJD� SHQGD\DJXQDDQ� GDQD� =,6� VXGDK� VHVXDL�

GHQJDQ�SHUDWXUDQ�SHPHULQWDK�GDQ�NHVHVXDLDQ�WDUJHW�\DQJ�VXGDK�GLUHQFDQDNDQ��

.DWD�.XQFL��3HQJHORODDQ��'DQD�=,6��/$=�,=,��.HVHMDKWHUDDQ�NDXP�GKXDID
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7KH�,QGRQHVLDQ�=DNDW�,QLWLDWLYH�LV�DQ�RUJDQL]DWLRQ�RU�UHOLJLRXV�LQVWLWXWLRQ�WKDW�DOVR�

SOD\V�D�UROH�DV�DPLO�RU�PDQDJHV�DQG�FROOHFWV�=DNDW�� ,QIDT�DQG�$OPV�IXQGV�XQGHU�

WKH�DXVSLFHV�RI�WKH�1DWLRQDO�$PLO�=DNDW�$JHQF\��7KH�GHYHORSPHQW�RI�=,6�IXQGV�DW�

/$=�,=,�KDV�EHJXQ�WR�PRGHUQ��WKH�ELDV�FDQ�EH�SURYHQ�IURP�WKH�PDQDJHPHQW�DQG�

XWLOL]DWLRQ� RI� =,6� IXQGV� LQWHQGHG� IRU� UHFLSLHQWV� RI� ]DNDW� LQ� DFFRUGDQFH� ZLWK� ��

DVQDI��=,6�IXQG�PDQDJHPHQW�DQG�LWV�XWLOL]DWLRQ�V\VWHP��/$=�,=,�<RJ\DNDUWD�KDV�

YHU\� PRGHUQ� SURJUDPV�� 7KHUHIRUH�� WKH� SXUSRVH� RI� WKLV� VWXG\� LV� WR� DQDO\]H� WKH�

PDQDJHPHQW�RI�=,6�IXQGV�DW�/$=�,=,�<RJ\DNDUWD�WKDW�FDQ�LPSURYH�WKH�ZHOIDUH�RI�

WKH� SRRU�� 7KLV� UHVHDUFK� PHWKRG� LV� GHVFULSWLYH� TXDOLWDWLYH� E\� REVHUYLQJ��

GRFXPHQWLQJ� DQG� LQWHUYLHZLQJ� GLUHFWO\� WR� $PLO� DQG� 0XVWDKLT� DW� /$=� ,=,�

<RJ\DNDUWD��7KH�UHVXOWV�RI� WKH�VWXG\�DUH�EDVHG�RQ�DQ�DQDO\VLV�FRQGXFWHG��VWDWLQJ�

WKDW� /$=� ,=,� <RJ\DNDUWD� DV� DPLO� KDV� EHHQ� RSWLPDO� LQ� PDQDJLQJ� =,6� IXQGV� WR�

LPSURYH� WKH� ZHOIDUH� RI� WKH� FRPPXQLW\� HVSHFLDOO\� WKH� GKDID� WKURXJK� WKHLU�

SURJUDPV�� ,Q�PDQDJLQJ� =,6� IXQGV�� ERWK� IURP� FROOHFWLQJ� =,6� IXQGLQJ� VRXUFHV� WR�

XWLOL]LQJ� =,6� IXQGV�� WKH\� DUH� LQ� DFFRUGDQFH� ZLWK� JRYHUQPHQW� UHJXODWLRQV� DQG�

VXLWDELOLW\�RI�SODQQHG�WDUJHWV�

.H\ZRUGV��0DQDJHPHQW��=,6�)XQG��/$=�,=,��:HOIDUH�RI�WKH�SRRU


